

Multiply by 10^{-3} (I)

Find each product.

$$39 \times 10^{-3} =$$

$$63 \times 10^{-3} =$$

$$91 \times 10^{-3} =$$

$$38 \times 10^{-3} =$$

$$4 \times 10^{-3} =$$

$$36 \times 10^{-3} =$$

$$32 \times 10^{-3} =$$

$$13 \times 10^{-3} =$$

$$28 \times 10^{-3} =$$

$$53 \times 10^{-3} =$$

$$71 \times 10^{-3} =$$

$$67 \times 10^{-3} =$$

$$88 \times 10^{-3} =$$

$$90 \times 10^{-3} =$$

$$29 \times 10^{-3} =$$

$$5 \times 10^{-3} =$$

$$14 \times 10^{-3} =$$

$$90 \times 10^{-3} =$$

$$22 \times 10^{-3} =$$

$$38 \times 10^{-3} =$$